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@ (x-y-1)*=x>+y*+1-2xy-2x~2y
@ (a+b)?*(a-b)?=a*-2a?b* + b*

® (—x+3)3 =x%-9x% +27x - 27

@ (a-b)(a®>+ab-b*) =a*-b*

® (p-D({P*+D(p*+1)=pt-1



3. (a+b-c)a-b+c)E A7NHA?

@ a?+b%-c2%-2bc @ a® - b+ % - 2bc
® a®+b%-c%+2ab @ a®-b?-c?+ 2bc

B a2 =b%2-=c2-9ab
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A 2x? = 3x -2 = a(x—1)(x = 2)+bx(x - 2) + cx(x—1)©] xof T
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(14 x+x)2(1+x) + (14 x+ x* + x3)3
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tod a® +b° + ¢ = ab + be + ca
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9. a+btc=1, ab+bctca=1, abc =14, a®+b3+¢3 9] 2t2?

@® 3 @ -3 ®1 @ ®

Wl =
Q| =



10. x+y=2 13 +)* =144 0, x° +° 9] g-& FotH?
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(x—a)?(bx—x%2-1) = (x—¢)?(dx—x*>-1)
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13. REAFxol HotA x19+1=ap+ar1(x—1) +as(x—1)2 4+
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